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Physic

1. A projectile thrown with a speed v at an

angle & has a range R an the surface of earth
For same value of v and #, its range on the
surface of the moon, will be

R
(a) 6R (h) =
i
(c) 36R @ F
3a

. In the relation
P'— “.E ol i

p is pressure, £ 18 distance, k s Boltzmann
constant and 8 is rthe remperature. The
dimensional formula of [§ will be

(a) [ML*T] (b) [M°L*T)

(e) IMLPT) (d) (M T)

. A body is slipping from an inclined plane of
height h and length |, angle of inclinaron is

8, the time taken by the body to come from
the top to the bottom of this inclined plane i

(2 , ) 2h
(a) [— (b) sin® |
Vs AR
1 | 2h | 2h
) — j— (d) |—
sin@} g V&

4. The rado of specific heat of a gas at conseant

pressure to thar ar constant valume is v, the
change in internal energy of a mass of gas.
when the volume changes from V o 2V m
constant Pressure pos
(a) pv

(€) pV/i(y=-1)

(b R/Ly 1)
) pv/y -1

S
5.

In the process of electrelysis, the current i
carried out inside the electrolyte by

(a) electrons

(b] atoms

[c) positive and negative ions

(d) All of the above

. An artificial satellite moving in a circular

orbit around the earth has a o) (kinetc +
potential) energy E,. Its potential energy is
(a) Eg (b) -E,

{c) 1L.5E, (d) 2E,

. According to Kepler, the peniod of revelution

. When

of a planet (T) and its mean distance from
the sun (r) are given by the fullowing
equation

{a) T*r* = Constant
(¢) Tr® = Constant

(b) T4 = Constant
(d) T*r = Constant

Which of the following statements is correct?

(a) Hooke's law is applicable only with in
elastic limit

(b) The adiabatic and isothermal elasiic
constants of a gas are equal

(c) Young's modulus is dimensionless

(d) Swress multiplied by strain is equal to the
stored energy

two  capillary tubes of differemt

diameters are dipped verucally, the rise of

the liquid 13

(@) less in the tabe of smaller diameler

(b} maore in the tube of smaller dinmete

() more in the wibe of larger diameter

{d} same in both the tubes
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10. In the circur diagram given below. each {a) 15 em thy 12.5 em
resistance is of 10€2. The current in the arm {c) 7.5 em i) 10 em
AD will be 14, N bullets each of mass m kg are fired wih a
F velocity v ms ' ar the rate of n bullers per
second upon a wall. The reaction oftered by
B the wall 1o the bullets is given by
Foou fa) nmy b L
n
—_ () 2N (@
] L i
i 15. Three equal weights A, Band C of —5—
mass 2 kg each are hanging on o |
b string passing over a fixed [
o , frictionless pulley as shown m -
(a) 2 by ° figure. The tension in the sting | |
5 & connecting weights B and © is ﬁ
44 3t -
{€) == fd)y == fa) eero m'
5 3 (hy 13N i
1. Two cells when conneced in series are (i 33N |
balanced on 8 m on a potentiometer. If the (d) 19.6N le
polarities of one of the cell so connacted i
reversed, they balance on Z m. The ratio of 16 A lift is moving downwards with an
emPs of the two cells 15 acceleration equal 10 aegeleration due to
4) 3:4 (b)) 4.3 gravicy. A body of mass M kept on the floor
(e} 5:3 (d)3:5 of the lift s pulled horizontally. 1t the
12. Two stars situated at distances of 1 and coefficient of friction is y, then the trictional
10 light vears respectively from the eanth resistance offered by the body is
appear to possess the same brighmess. The ta) Mg (h) pMy
ratio of their real brightness is (¢l 2uMy (e} zero
fa) 1:10 (h 10 17. Which of the following statements js wiong?
fe) 1:100 (d) 1001 {0 Sound travels (o suaight line.
13. Consider the situation shown in figure (b) Sound is a form of energy.

Water : B = jJ is filled 10 o beaker upo a

height of 10 ¢m. A plane mirroy fixed ar a
height of 3 cm from the surface of water
Distance of image from the mirrar atter
reflection from @t of an ohect O ar the
bottom of the beaker 14

18,

19,

i) Sound ravels in the torm of waves,
{d) Sound travels mster in vacuum than o aue,

Equarion of a progressive wave is given by

¥ -aD,Ecu's-r,!_. Odr + 02y - ; l

The distance 1s expressed in om and timie in
secand, What will be the minimum distance
between two particles  having the  phase
difference of w27

fa) 4cm i) Bem

i) 25 cm (d) 12.5¢m

& source of sound is uavelling with

welucity 40 kmi/h towards observer and emits
sound of frequency 2000 Hz. If velocary of



21.

22,

sound is 1220 km/h, then what is the
apparent frequency heared by an observer?
{a) 2210 Hz (b} 1920 Hz

() 2068 He id) 2086 Hz

A flexible wire bent in the form of a circle s
placed in a uniform magnetic field
perpendicular to the plane of the coil. The
radius of the coil changes as shown in figure
The graph of induced emf n the coil is
represented by

;2 3} ——

¥ ¥

al rEM ] ni i',
g s 05 2~
¥ ¥
t‘ ﬂ

{ch = i) e !
Ty g I!—--=r 07y 2 H-’

The number of photo electrons emirted per
second from a metal surface increases when
{4) the energy of incident photon increases
(1) the frequency of incident light increases
(c) the wavelength of the incident light
InCreases
(d) the  intensity
increases
When a beam of accelerated slectrons hits #
target, A continuous X-ravs spectium is
emitted from the targer. Which of the
foliowing wavelength is absent in the X-ray
spectrum, if the Xoray tube (s operating @t
ADOODD V7

of the inodent  light
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{a) D5 A (b) 1L.0A
c) 0.25A (dr 154

23. If|v, - vyl=|v, -vjand vy is finite, then
in) v, is paallel w v,
by v =¥,
(e vyl =[vil
(d) v, and v, are murually perpendicular
24, Polarized glass is used in sun glasses because
Lad i is Fashionable
(b} fv has good colour
(c) it reduces the light intensity to half an
gocount of polarizanon
{d) it 1= cheaper
25. A TV tower has 3 height of 100 m The
average population density around the towet
is 1000 per km*. The radius of the earth is
6.4 > 10" m, the population covered by the

ower 18

(o) 4= 10" by 3-107

(e b= 10" (dy 2~ 10°
26, A —Hh—

D E%ﬁ

Identify the wrong description of the above
figuras.

(a) A represents the far-sightedness

(b B represents the fan-sightedness

{c) € correction tor short-sightedness

id) D correction for sightedness

In a compound microscope, the intermediare
image is

(a) real, erect and magmiied

(b) real, inverted and magnified

(¢} virtugl, erect and magnified

1d) virtual, erect and reduced

27.



28,

29.

30.

31,

32.
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The process of super |mposing signal
frequency (te, audio wave) on the carrier
wave is known as
(Al transmission
{c) modulation

(b] reception
() detecrion

I'wo capacitors connected in parallel having
the capacities ¢, and €, are given g charge,
which is distribured among them. The rauo
of the charge on C, and ¢, will be

1
a) —

GiCa

(o) —= td) :_1

] 2

) ¢.C,

Four charges are arranged ar the corners of a
square ABCH, as shown in the figure given
below. The force on the charge kepr at the
centre (1 is

A B
1.41' | v2q
G,
42q o i -q
o =

() perpendicular to side AH

(bl zero

() along the diagonal AC

(d) along the diagonal BD

The number ol molecules in a gas ar pressure
164107 arm and emperature 200 K
having the volume 1 ¢c are

fu) 6,02~ 10'° (b 263 10"

{e} 301« 10" (d) 1204x 10"

According o the kinetic theary of gases, total
energy af a gas is equal 1o

4] Kinetic energy (b} potential energy
fcl Both {a) and (b)  (d) None of these

. Which of the following statements is not

Correct?

fa) Both AC and DC dvnamo have s field
magniat

by Both AC and DC dvnamo have slip rings,

{c) Both AC and DC dvname have an
dITIATUTE.

(d) Bath AC and DC dynamo convert
mechamcal energy o slectrical energy

34.

35.

36,

ar.

a8,
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The electrical resistance of depletion layer is
large because

(4) it has no charge carriers

(b) it has a large number of charge carriers
{c) 1t contains electrons as charge carriers
(d] it has holes as charge carriers

For a triode r, =10 k2 and g, = 2 milli mho, If
the load resistance is double of plate resistance,
then the value of voltage gain will be

(a) 10 {h) 15 () 20 (d) 30
The curve between charge de nsity and
distance near P-N junction will be

charge densily charge density
9
N R N
(a) P r 3 (b) distance
; j distancs —
charge dansity chargs asnsity
P L\“ P \I/
(c) 2 . (d) Y.
distance [;dhnca

The energy spectrum of a black body exhibits
a maximum around a wavelength .. The
temperature of the hlack body is now
changed such that the energy is maximum

%, The power

radiated by the black body will now increase
by a factor of

around & wavelength

B 256
] — by ==
la %; ib) m
4
el E (d) 3

When a system s taken from state 1 1o a state
f along path igf Q-=50.) and W =201

Along pathilyf, Q =35 J. If W = - 13 ) for the
curved return path fi, @ for this path is

(a) -7J
fe) —43 )

(k) 23)
(d) 33



39,

41.

42,

43,

A large number of water drops each of radius r
combine to have a drop of radius R. If the
surface tension is T and the mechanical
equivalent of heat is J, then the rise in
temperature will be

o 2l ar
@ = 0
AL 1) 9Tl )
e e Lot s )

v, and v, denotes the escape velocty from
the earth and anather planer having rwice
the radius and the same mean density as the
earth. Then
I ¥
(@) v, =2v_ (b v, =L
2
v
v, = -’-:’ (d) v, =v,
The acceleration of a particle s increasing
linearly with time r as br. The particle starts
from the origin with an initial velocity v,
The distance travelled by the particle in tine
t will be

(8) vt r;l-br" (b vt 4 !pes
3 3
|
el vyt +E‘J'=‘J!'QL (d) vyt + zbr‘

Two spnings have their force constant as k,

and k, such thar & >k. When they are

stretched by the same force

(a) more work is done in case of first spring

(b} more work is done in case of second
spring

(c) no work is done in case of both the
springs

1d) egual work is done i case of both the
springs

A 12 HP motor has to be operated 8 h/day.

How much will it cost at the rate of

50 pase/kWh in 10 days?

La) T 397 by £ 375

(¢} ¥ 358 (¢l) #1350

- A body of mass m moving with a constant

velocity v hits another body of the same mass
moving with the same velocity v but in
opposite direction and sucks 1o i The
velovity of the compound body after collision
is
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45,

47.

49,

30,

(a) zero ibi ;

<) v () 2w

When a steady tworque is acting on a bady,

the body

ta) gets hnear acceleration

(b) gers angular aceeleration

e rorated at a constant speed

{d) continues in its state of rest or unitorm
maotion along & srrahe line

The electmic bulbs luve tungsten filamenis of

same length. If one of them gives GO W and

ather 100 W, then

(a) 100 W bulb has thicker filamem

(h) 50 W bulb hus thicker filament

(] both fllaments are of same thickness

(d) it is possible to get differem wartage
unless the lengths an: differem

A beam of ions wuh veloory 2« 10° nys

enters normally o & umform  magnetic

field of 4107 T 1f the spectfic charge of

the ion is 5« 100 C kg, then the radius of the

circular path deseribed will be

(a) .16 m () 0.25m

ic) 0.10m (d) 0.20m

A long magnetic needle of Jength 20,

magnetic moment M oand pole stength m

unit is broken into two pieces at the middie

The magnetic moment and pule strength of

each piece will be

m Ml

(a) M, 5 (i 5 .m
M m
(c) :.r; Wl M.m

The number of rurns and mdius of cross
section of the coil of a tangem galvanometer
are doubled. The reduction facror & will bae
(a) k (h) 2k

(cl 4k i) k3

The anguiar momentum o election in nih
orbit is given by

[a) nh () h—
2nn
nh ; N
€] — i) n*
vl 2n ’ on
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Chemistry

How many moles of magnesium phosphate.
Mg, (10, i will contain 0.25 mole of axveen
atmns !
fal o2

(e) 1.25= 107

(h] 3.125-10°
(d) a5, 10

represent the kimeric
encrgies of an electron, alpha particle and o
proton respectively, each moving wich sanu
de-Broglie wavelength then

(n) E, =K, =E, {b) E, »E, »F,

€ kE, ~E, »E, (d) E, ~ ¥ _-E

» The set of quantum numbers for 19th

electron of chromium (2 = 24) j«

(al 4'“‘”"; (b) 41, 1'2
() 329" (i 32-2 41
2

Atom A possesses higher values of packing

fraction than atom B. The relarive stabihities

ot A and B age

Ll A s more stable than B

(1 B ts mare srable thon A

() A and B both are equally stable

(d) stability does not depend on packing
fraction

=¥ emits Ba-particles and tfi-particles,

The neutron/proton ratio in the product

nucleus s

La) £ ih) Al
41 40
4] 62
ic) = d} —
42 : 41
The bond length of species O, O, and O, arc

in the order of

fa) O, =0,=0, (b} @y >0, >0,

{c}) 03 =0} >0 (d) 0, -0, 0.

Hy0 s dipolar whereas BeF, 15 not, It

because

(a} the electronegativity of F is grearer than
that of O

{hi H0 involves hydrogen bonding whereas
BeF, is a discrete molecule

(€} Hy0 is linear and Bek. is angular

(d) M0 15 angular and BeF. is linear

8

10.

11.

12

13,

Structure of 161, is

Ll trgunal

(h) ocrahedral

i) eguare plana

) distorted rrigonal pyramidal

. Which of the following molecules, ons does

not coman uopaired electrons ¢
fal O (h) B,
L) N_! id) U_—

Thl: l.l.'l.lli-'l[:llll'l siiLes o _\u[r\hllr i the anions

807 807 and S.07 follow the urder

{a) $.04 <S.0; - 507

th) §.0; <507 30

(¢} 507 <805 =507

td) 805 «§S05 <5

An jame eompound his 3 unit cell cansisting

of A jons ot the corners of o vube and B jons

at the venrees ol the faces of the cube, The

empirical formuli for s compound would

e

al AK by Al

(¢l A.B (al AR,

Phe vapowr pressure lowering caused by the

addition of 100 g of sucrose (melevulal miss
3D w 1000 g of warer, f the vapour

pressure of  pure warer a1 250 s

238 mm Hg I

(o) 0,12 mm Hg (b} 0.425 mm Hg

() L.15 mm Iz [y 1.25 nun Hg

Mark oun the wroang expression,

A ]
(o] Boyle's temperature. 7y = -
@

() Lotical pressuce, g, 3

&7b

-

R

() Crivivil tempetatre, 7. = —
¢ petatre. v = SR

1d) Criucal volume, V = 3h

. The enthalpy of dissolution of BaCl,(+) and

BaCl, 2H,0(s) are -20.6 and 2.8 kI mal'
respectively. The enthalpy of hvdration for
BaClds) + 2H0 — BaCl, - 2H O 1

(a) 29.4 ki hy 204 ki
{e) 118k idy 382kl



15. The occurrence of reaction 15 impassible if

16.

17.

(a) AH is +ve: AS isalso +ve
(b} AH is —ve: AS i5 also -ve
{c) AH is —ve; AS is +ve

(d) AH is-ve: A8 is —ve

For the reaction,

ZNH () == No(g)
the unns of K, will be
(a) arm
(¢} (arm)™

3H.(g),

(b (atm)’

(dy (atm )

On adding AICL, o water

{a) the wonsation of warter Increases

(b the ionisation of water decreases

{c) the lonisation of water remain constant
{d) the lonic product of water increases

18. The pK, value of ammonium hydroxide 1s

19,

20.

21.

4.75. An agueous solution of ammonium
hvdroxide is derared wirk HCL The pH of the
solution af  the point where half of
ammonium hydroxide has been neurralised
will be

(a) 9.25 (k) 8.25

(e} 7.50 (d) 4.75

Units of specific reaction rate 1o second
order reaction is

{a) ' ib) molL's'
(e} Pmal=s ' (d) Lmol 's

A hydride of nitrogen which is acidic is
(a) NHy (B) M;H

(c) N,H, (d) N.H,
Ammonal used in bombs (5 a mixture of
(a) Al- KNG,

(b) Alr AlOy + B0,
(¢) Al+ AINO, ),
(d) ALO,+C

Ge (1) compounds are powerful reducing

agemts whereas Ph (IV) compounds are

strong oxidants. 1t can be due to

(a) Pb is more electropositive than Ge

(b) ionisation potential of lead 15 less than
that of Ge

(¢} ionic radis of Pb** and PhY
than those of Ge™™ and Ge’

(d) more pronounced inert pair effect in lead
than Ge

are larger

23,

24,

25,

26.

27.

&

29,
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When a colourless gas is passed rthrough
bromine water onlv decolourisation takes
place. The gas is
(a) SO, (b} HBr
(¢) HCI (d) HS
Which of the following compounds can be
dehydrated very easily ?
(a) CH,CHCHLOH.CHALOH
%

el
(b) CH,CH,CHC H.CHOH

CH,

|

(¢) CH,CH.CCH.CH,
|

OH
(d) CHCH,CH,CHCH,

O

memethoxy bromobenzene is treated with
sodamide and then with NHy. The product
formed is

{a) o-methoxybromobenzene

(b aniline

{c) methoxy benzene

{d) m-methoxy amline

The most suitable reagent for the conversion
of RCH,OH — RCHO is

(a) KMnO, (b) K.Crd.
(c) PCC (d) Cri,
Actoss the lanthamide series, the baswity of

the lanthanide hvdroxides

{a) increases

(b decreases

{c) first increases and then decreases

(d) lirst decreases and then increases

In which of the following compounds, one of
the structural isomers is also capable of
showing enantiomorphism ?

{a) C4H, (b) € HBr,
(R & (d) CH 4
Which is the decreasing urder of stability of

the fons ?

| CH (—CH—CH,

11, CH, —CH—OCH,
1. €11, —CH— COCH,



30,

31

a2
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fud 1= 1= 11 (b U=Mi=1

fe) M=1=1 (d) U=1=11

Which of e following dovs not show
electromenc effect 7

(n] Abketes {b) Ethers

fel Aldehvides {d) Ketones

Jodine valtie i5 relined 1o

(b aleohols
el msters

fa) fins and nils
el wthers

The enayvmes which have conrrol site in
addiwon vo active siee gre called

fa) holezymes

(l) Coeeymey

(L) apoengvines

(d) allosrerh: enzymaes:

. The detergent which is used as germicde

34.

35,

36

-

3v

() sodiom jauryl sulphate

thi cervlimmethyl ammonium chloride

(e) lauryl aleshol ethoxvlare

id1 sodium-2-dodeey] benzene sulphonate

Satrated soluton of KNG, is used to make

salt hridge bocnise

{a) velpetry of K is greater than rhar of Wi,

(i velocite of NQ, i3 greater than that of K

(el velocity of both K- and NOj are nearly
LTI IS

() KmE, is solulle m owane:

The equilibrivm constant of the reaction,

s 07 Lag) « A8

Fo=a6Y at 298 K is

(a1 24 10"

il 400 107

Culs) - 2Ag (aq)

i) 2.0« 10"
(d) 4.0= 10"

Cow milk is an example of patural emulsion
stabilised hw

Lal fat b wanet

\ Y
{c) casemn (d) Mg™ ony
Autoreduetion  progess s used in the

exliracian o

(at Cuoand HE
(i A oand Hg
ted Cuand Al
(dy Feand Ph

8.

39.

40,

41.

42,

43.

44,

CHHATRAPATI SHAHU JI
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The vonect WPAC mame of Ui compourid

(‘]\/.Qi,.

{a) 5-oxaspiro [3, 4] ocane

(b} Y-oxaspite (4. 3] octane

(¢} S-oxospirn [, 4] oceane

(di 1-axasmn |3, 4] octane

Kieldahl's method cannot be used for the
extimation of nitrogen in

b} nifro compounds
fe) seo compounds  (d) All of these

Kl and CusO, «olution when mixed, give
“ﬂ..,l CI.I_:I: d K_-:lU1

(b) K80, + Cul. + 1,

(¢) Cul, + K.S0,

(d) K SO0, +Cuyl. + 1,

ldbentify C in rhe fllowang deacton

" " AL,
@ v CH, = CHCH G ——= A

(id BH ;. THF
— ey
T Hatka, OH

fa) pyridine

HF, &

i

@R @m
feh (che
A\ Ol OH

An o orgame  compound  with medecular
formula, C,1,0 when dissolved in NaOH,
gives a characteristic colouy with Fell,. On
trenmient with byamine, it gives a trbromo
dervative, C-H.0Br, The compound i

(i) bengyl alishol () w-eresol

) meresel tdy el

When CHLUONH, is heated with P, the
product is

(a) CH,CCLNH, (b)Y CH N

te) CHEOC! () CCLOONH,
Carbonation of methylmagoesinm bromide
gives an organic compound. This compound
1% also abtained by

in) hvdrolysis of accronnrile by o mineral

acid

i by oxdanon of merthyl alcohinl



W

{¢) hydrolysis of methyl isocyanide with a
mineral acid

(d) hydrolysis of methyl formate with dilute
mineral acu

Which of the following compounds

undergoes both Cannizara reaction and aldnl

condensation?

(@) (CH,),CHCHO (b} HCHO

(€) CoHLHO (d) CHLHO

The product formed when scetone i reacted

with mometnane in the presence of  base 18

CH,
(a) CH,

€ CHLNO,

i
CH

(b) CH, —GC— CH—NO
O OH

Botany

. The association mvoorrhiza is

(a) relartonship of algae and fungi

ib) relutionship of fung and higher plunts
(e relutionship of algae and higher puans
(d) None of the above

The phvtohormone helps (o geominanon of
seed i

(a) ABA

{e) gibberallin

(b anxin

(d} eviokimn
The type of pollination in Cyeas 15

{z) entomophily ib) hydrophily
{¢) anemophily (1 malacophily
Transpiration is manilestation af

(a) turgor pressure (bl wall pressure
(¢} roor pressure (d) None of thess
In a fully rurgid cell

(4) TP=0 (hy WP=0
{c) DPD=0 (d) OGP =1
Pome fruit is found in

{#) mango thi apple
i) lncha (di peach

CHHATRAPATI SHAHU JI
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CH,.
i<l = CHNO
CHy/

47,

(d) CH-COCH=CHNO.

Which of the following s & polymer?
(it} Carnuabawax (b} Carbowax
it} Beeswax 1di Paratfin wax

48. 5, laver gives a west lor

49,

S

tal Cl {b) Br and |
ey Brooonly {dy I pnly
The nohble gas used for reannent of danver &

ta) heliom
{c} madon

{by argon

(d1 krypaon

wWhisli af the Tollowing elemens with aloms
pumhiers 35, 30, 48 and 50 has the highest
VAPOLIE [IreSsuie b 1o0m iempernide

(a) & =44 ity & =34

(e) £ =25 ) £ oo B

7. Which ion heip in opening and closing ol

sEomnata?

Bl Mu I

(e La” 14y h

8. Whith of the following 1= correct for Cpoos

10

1.

reproduciion”

o) Zovidoganw is followed by siphonogamy
(v Siphonogamy = foiloved by somdogamy
() Siphonogamy only

{d) Zooidogamy only

Fhe main cause of pollution in metro ates is
la) Lurning of fupsai! fuels

by water plants

(¢} domestic produdts
(d1 None of the above
Roots are absent in
fa)l Walifie

(&) Pisua

The movement of lajrs m Broser s
ial thermonastic b thagmmomastic
(£ selsmonastic () photomastic

Lhy Puodoseeiron
id) Lemna
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12, Divection of tanslacation of organic food o

solites is
(a) upward by downward
(e radal (d) Al ol these

13, Minerals are absorbed by planis in
(a) colloidal form (B} fonic form
{e) precipitated form (d) None of these

14. In Krebe' cycle, GTF 15 tormed In
(a] oxdative phosphorylation
Ih) substrate level phosphorylarion
{¢) phutophospharylaion
(d) decarboxylation

15. Very srrorng light has a ditect mhitnong eftect
on photosynthesis, which is known as
(4} solanzation b etolation
(¢} chlorosis 1d) defolistion

16, Common enzyme in glveolvais and pentose
phosphate pathway 15
(a1 hexokinase 1) aeonitase
[v) humarase 1d dehvdrmgenase

17. The term "Niche” was first used by
{a) Clements i Grinnel
(¢! Warming id} xliin

18. An  imperaction  [avoursble v bath
populations, by no oblagaiory woeither, s
() proto-conaperating
(b mutualism
(¢} commensalism
(d) parasipe

19. ‘Khiura disease’ of rioe s doe 1o
fa) fumgus (b) bactena
(¢} zinc detwcency () modeficiency

20. Most diverse organisms ol an ecosysiem me
(o) producers (i) consumers
(e} earmivures (d) deeomposers

21. First reaction in photosyncheais i3
La) phatolysis of wane
(b} excication of chinrophy!l molecule
fe) tormanion of ATP
(ed) fixation of CO.

22, I the number of chiromosemes (0 ege cell s
8, then what is the number of chromosomes
in endosperm?

L) 25 (by &
ey 16 oy 12

23.

24,

25.

26.

27,

28.

L

30.

31
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The seil with poorest water holding capacity
is

ia) clav by loam

el sandy td) None ol these
Runminate endosperm 15 found i the secds ol
family

(al Compasitay (b1 Cruciferae

1¢) Euphorbuaceac (d) Annonaceny

A monncot sem with secondary growth s
fa) Lilium (b)) Cinos

{e) Yueea (d) Asparagus
Cyathium infforcscences is found in

in) Maorns (b Dorstema

[e) Fieus td} Euphorbio

Which s called  “sexual  sestem o

classibieation™

(o) Bentham aid Hindier's

(h) Tippo's

fe) Linnagus

(d) Takhwian

lateral  roots  dovelop  from primedin

origmated by the division of

vap percvele  cells lying opposite (o
pretoxylem poings

(hy perieyele  cells dyimg bebween  twno

protoxylem poanis

(¢) endogermal cells Iying  between  two
protoxylem points

[} endodeimal  cells
prowoxylem points

Bacteria differ froam plings in that they de

nut have

L) EINA

) HMA

(el cell wall

(d) a well define nuclens

Five kingdom classitication wis gven by

(a1 Huxley

it Heokor

(o1 Whitaker

{di Linnreus

g T

uppﬂ:.‘bll.'

Gamelophyte 15 dommnant stage i the ik
cyele of

(a1 liryophyia
(o) angitsperms

thi precidoplve
() rymmospenine



32,

35.

6.

37

38,

. Prages @re

Pyrenoids are made up of

(al eme of starch surroonded by sheath of
protein

(h) cure ol protein  surronmded by faimn
sheath

fr) proteinaceons centie and stanchy sheath

fd)core of mueleic avid  swirounded  In
proein sheach

The phragmoplast 18 orgameed o the

1a) beginpimg of spaphass

(0] emd ur anaphise

(e} Legnmng of relophiase

1y el o relophnse

pot ound o RVETIon Pt

beruse

(a! they we seedless

() ey e asse podlipnn ol

i) they have ne ovae

() leriilization dows fol takes ploce

Vegetative reproduction i Fumacio takes

place I

L primary protonmima

Hivi permine

() ses pdary protaneti

{d) Al i the above

Mewwin (i a plane ot whoo e 0

chunge rom

fai gametophivee 1o sporaphyte

bl spmrophvie o gametophaie

{1 gametophyie o grmetophyte

() aporephiyte e spuaophiyte

siddie tamella s preser:

b e the secandary wall

b misde the primary will

(o) eatsicde the primary swall

{dY in hetweer secondary and fertiany walls

The age of t9or I counting amms) rings

called

) Depdros aroolog

b Ageing

le) Cluomedogy

(d} Countrolugy

L, plants, the firs stable prestior o

photsynthesis during Jark regenion, i

{n) PGAL (b} RuBy

(¢) PGA {d) OAM
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40,

-—

4

i

42.

45,
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1

The ditterence betweon rough endaplismic
rertenbinm and smooth endoplasmie redeulom
i oha ol eodephismi retieulim
part desr not Comtan nbngomes
b conrmns riliosormes
(el o Aot thanspart proteing
T transporis profeins
Fogchine acid s present in
cay el wall of Grain-jposiive bacteria
(e ceth wandl o wknin segatie bacreria
1) -||_-\-|d ol Vi e
() pratoplasm ot myeaplasma
Beth hoterospory anrd Cirginme pryxs goeur
m
it Mryuptern
ek #rites
LEs 8 e
il Faseniri
Floston vamin Lomiiine
1] Copae
' gatdemm
Winel, of the fellowing pyramids 1 always
uptighe snd e never be inverted?
i Bramid oF biomase
v Peeamid o sl
feh Mpamid of energy
id) Perth (a) and (<)

thy iron
fedr porssium

wWhich of the llwving = a2 secondary
prodbiant

1) {hi S0
e MO idi H D

Work o boadle and Taem on Neardiporn:

eriast prowead than

vah replication of DNA = semi-conservative

th) viruses have genet:e material

(et every gene io vesponsible for specine
Ty M

) planr celis are arporent

i

bual 1ok 5 Wlen

T 1y crossesd vl ivteraz Vaons parents

b, ciossed winh homurygous dominant
pareni:

(o R ovreswel witll homozvgous revessive
Ppapents

(b B cnosged with LOnoesygous (srene
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4B. Link enzyrive in cellular pespiration s ia) coenzyme (b} holoenzyme
(a) citrate synthetase (2] apoenzvme id] isoenzyme
“?J pirravare aetiydrmpenan 50. Who was awarded Nobel Prize in 1959 for
(6} isocitrare debiydrogenase int vitro svarhesis of polyribonucleotide?
() suceinyl thiokinmse :
49, An organic substance bound to an enzyme tal I:ntum (b) [:.mrwm
and essennial Tor its actvity s called (e} Komberg (d) Khurana
Zoology
1. Medulla oblongata is vniginuted from 9. Which hommone/glind acs in hiological
(a] ectoderm 1 mesoderm clacks !
e} endmdernm (o) ectomesodenm el Thyroid ih) Thymus
2, Respiratory control centre s fe) Adrenal (d) Pineal
tal verchellinm 10, The Expiratory Reserve Volume (ERV) will
(b) meculla oblongata bee
tes spinal cond i) 1000 mL ih) 2000 mL
(d} verebrum [¢) 4000 mL id) 000 mL
3. Lowest regeneration power is found in 11. Number of layers in amoebod cyst are
(a) Aol Ib) spunges o) 2 (b1 3
e} coelenirnies [dY Dbrain cells led 1 td 4
4. What type of teeth are abisent (o rabbit” 12 Food poisoning is caused by
{a} Malars (b1 Premolars (0] Nitrosomonas (b} Lactobacillus
te) Canines (i fnoisors el Eschertchia coft (d) None of these
5, Origin of lfe as a result of chemical 13. Earthworm is
evolurion has been properly explained by o (@) polychuery (b vligochaets
the most logical Fochemical theory of origin 1] rudines (d} None of these
of life has been given by 14. Inhertanee of skin colour in human Is an
(ad Stanley Miller by Larwin example of
(€] Al Oparin (d) 5 Fox 14) chromosomal abedraton
6. Which & not  based on  predictive Ib) endominance
generalitarion (1] nrpciunhl.: (] point mutation
experimentation’? 1ed) polygenic inheritance
{a) Hypothess 1) Theory 15. Cridu-chat syndrome in humans s caused
(] Principle 1d) Law by the
7. Coacervates belong to the category of ta) 'f'""'m“"" of an XX egg by o normal
) : Y-bearing sperm
tay cysmotincrecia (b) loss of hall of the shomt arm of
(b} protozoans diromosome S
(e moleculor ngyregaey ) luss of half of the long arm of
(Y molecular aggregate surrounded by lipid chromosome 5
membran ) msomy of 214 chromosome
B. The far soluble vicamin is 16. Which one of the following pair of parents is
(a) 8 (thy C maost likely ger a child, who would suffer

(et K (di H from haemelyvtic disense of new borne?



17,

18.

19.

21,

23,

25.

{a) BRh™ mother and Rh faher

{b) &R mother and Rh father

(¢} Rh" mother and Rh father

(d) Rh mother and Rh™ father

which of the following is a flightless bird?
{a) Ostrich (b} Emu

(vl Kiwi (d1 All of these
Volkmann's canals occur w

{u) carrilage (1 liver

(el bone (d) internal ear
Characteristic of mammahan liver s

{a) Kuplfer's cells and leucocytes

(b} leucocytes nnd canaliculae

{c) Gligson's capsule and Kuplter's cells
(d) Glisson's capsule and leucocyies
Branch of zoology dealing with the study of
fishes is known as

(a) Herpetology (b Ichthyology

(€] Mammology () Ornithology

which is the correct example of the tvpe of

regeneration oul of the vwo majoy types?

{a2) Marphallaxis-Regeneration. of  two
transversely cut equal pleces of one
Hyvdra into twa small Hyvdra

(b] Epimorphosis-Replucement of old and
dend ervthrocyres by the new ones

{c) Morphallaxis-Healing of wound in the
skin

(d) Epimarphosis-Regeneration of crushed
andl filtered our pieces of Planarta into as
many new Planarians

Chemical 1o responsible  for muscle

COMTaciion are

{a) Ca” and K

(¢] Ma' and Ca*

(hi Na and K

(dv Ca® and Mg*
Ovum receives the sperm in the region of
{a) animal pole ik vegeral pole
i) equatm (d) pigmented area

. The releasing hormones are produced by

ia) tesns (b pancreas
Loh pituitary (dt hypothalamus
The best defimion of the process o

gastrulatian is that it is o process where the
{a) single layered blasiwla becomes two
lavered

UP CPMT (Medical) « Solved Paper 2011

26.

27.

29,

31

az.

33,

34.
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(s} archenteren is formed

() eveote gers converted into larva

(d) cells move w occupy their definite
position

Gland responsible for calcium metabolism is

{a} thymus (b thyroid

{¢) parathyraid (d) adrenal

The main difference herween  bone  and

cartilage 15 of

{a) mineral sales (b) Haversian canals

ic) lvinph vessels (d) blood vessels

Physiclogically urea 18 produced by the
action of an enzyme

(@) uricase (b) urease

(v) arginase {d) None of these
During the conduction of perve impulse, the
repolarization occurs with the

{a) nflux of K™ ions (b)) infux of Na“ jons
(¢) efflux of K* ions  {d) efflux of Na” jons

In the axon of motor nerve fibre, the nerve
impulse ravels

lat towards cell body
b away from cell body
{&) away from synapse
{d} in both divections
Emulsificarion of tal
absenee of

{a) lipase

(b1 bile pigments

(cl hile sals

() pancreatic juice
Ihe best source of vitanun-By 1=

(a) whole wheat bread

(b} cod liver ail

(c] egz

(d) curd

Svncvual (coenocyric) epidermis is present i
(o) housefly (L) Ascaris

i) Meraphire {d) Periplaneta

In Polychaeta, the setae are

() numerous

(b} singly arranged

(e} arranged in bundles

(d) fused

will not occur in
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35. Sponges are characterized by

(8} choanocyies

(b} canal svstem

{£) one exit and innwnerable mouthlets
(d) All of the above

Ammal nature of sponges i shown by
{2} holozoic nutrition

(b} absence of cellulose

(g} presence of ciliated larva

(d) All of the above

which of the following belongs o class
Insecta?

(a) Julus (b1 Silver fish

(e} Lobsters (dy Prawn
Mandibles are absent i

fa) mosquito (b} huusefly

(e} honev bee (d) hurerfly
Haemowoe! is found in

{a) Hydra and Aurchi

(b Taenia and Ascarts

(c) Peripluaneta and Pila

(d) Balanaglassus and Herdmania
Contractile vacuole 15 present in

(a) Puramectim ih) Fuglena

(c) Amoehba id) Al of these
wWhich symmetry is found in sea anemone?
fa) Biradial by Asvmmetry
{c) Spherical (d} Pentamerous
Lamarckism cannot explain

{a) webbed toes in aquatic birds

(hi weak muscles in the son of o wrestlel
ie) Inng narrow and limbless body of snakes
{d] hererophvlly

36,

37,

39,

41.

42,

43,

45.

46.

47.

449,

50.
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According to de Vres theory, evolurion is
ia) discontinuous

{b) jerky

{c] continuous and smooth

(d) Both (a) and (h)

The cranial capacity of modern man is
{a) 430-650 cc’ (b) 600.1000 cct
(c) 900-1100 cc”  (d) 1200-1600
The golden age of reptiles was

{a) Protervzoiv era

(h) Palacuvzoic era

(€] Mesozoic era

(d) Coenoeoic erg

Connecting link berween chordates  and
non-chordates is

{a) Peripatus (b} Halanoglossus
fey Sphenodon {dd} Tachvglossus
Trypsinogen 1 converted info active trypsin
by the action of

{a) cholecystokunin  (b) enterocrinin
(¢} enterokinase {d} secretin

In rabbit, the digestion of cellulose takes
place in

(b} ileum

(d) rectum
Bidder's canal is found 13

() testes of frog

(b} kidney of frog

() kidney of mammals

(d) ovary of mammals

MNumber of spinal nerves in rabhir is

{a) 27 pars (b 31 paurs

) 37 pairs (d) 47 pairs

{a) colon
{c} caecum
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15 (b) 16 (g}
25 (ap 26 (D)
5 e} 36 (a)
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25 ) 26 (e}
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Hints & Solutions

Physics

< ¥
1. The vange is given by, § = I.‘I'_'ill.'l _,,_I

i
5 |
i, R o
g
On the moon. g, = i
Hence, R, - GoR
2. | %L | ooy
Ay |
ar [ea] -: o
Z |
Furthers pl= ':
L3
(| [0
[ % | | 28
ipl Lép
Dimensions of ki are thar of energy. henve
(1= MET |ty
[ LML'T = |

3. istance o be wavelled along the plape
= f sin H

Acceleration down the plane = g sin #

b lur"
2
h rg i iy
= =—g&
sinH 2
ar 1 e O 4 — 2-“
EsnTw sinily g

4.

9.

10,

; f
. Acvording to kepler

AU = uC AT

" ;
-1 5
.I T ¥
o AL DOV HRV-VY DN
[.‘T' ll' E.‘ t‘ :I.‘ i-'

. In electrolysis, the current is canied out by

positive  and wmide the

electrolvee,

negative  ions

Potentiol  energy  =2.  {inial
=2« E, =2E,

Recause, 17 -

erergyl

e (sl
m asd B, s
r 21

= BMistant

=

ar e b - constant

Hooke's law is applicable only with in elast
limat.

< enn i

For capullary vise, i -
rily

h o« 07, 8 d and g are constans, )

If ris less then b will be more.
Applving KirchhotTs law s mesh A5CDA

Il.
_’_-“"“.l 1z!
I __.)‘rrrtlu
.|| L
‘,")i-'_‘._-
1|,+._|
-
L
L'
100 =0 ) =100, + 200 =0
= Ay -t - Lil

In mesh BEFCR
00 =4y =10 « 100 + 850 = Hh. =0
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= 3y + 4, = 20 Ly
Fram kqgs. (1) and (i), we get
. 1
Iy = = ,ls =
b -
21
— Lan =‘;
|
. - q ;
o, B loh 842 10,
E, L~1, 8-2 6 3
12. Faie
3
!'- = l-'“,' (I is same)
o
= b a2 | =1:100
L, r2 \10

13. From figure it is clear that object appears to
be raised by ?—‘? em (2.5 em).

Hence distance between mirror and

‘.Il.'m
ot i A A 3

;—*E e e 1
- ]

T >

S0, the final image will be tormed at 12.5 cm
Behind the plane mimor

14. Total mass of bullets = Nm

time - !i
1

Momentim of the bullets striking the wall
= Ny
Hate of change of momentum (oree)
_ Nmv
B I

oy

15. Tension between B and C 15 given by

)
i A
i

i
1m
1

{
I
.
i
|

%
o dmgme

m, + mﬂ - M,
222222 98-13N

2~2+2

i

16. For downward moton of lift
R =mig -a)
fo=g thenR=0
F=pR =0

17. Air is more rarer for sound 1w travel as

compared o vacuum,
18. Comparing with y -« @ cos{mt « kx - §)

We get k = -8 w02z = b =100cm

Also, it is given that phase difference
between particles

b4

M=

2

Hence, path difference between them,
A= _’.'_ = Adh
in
e g O

T2 2 4 4

19. Apparent [requency, 1’ - n'i = :

- 1"'|
2000« 1220
T 11220 - 40)
20. We have, ¢ = BA

=B« nr?

grr

= 2068 Hz
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21.

22,

23,

24,

25.

26.
27

or o= ket (k 152 constant)
= d.....’ = k.2r. df
tﬂ J:'t
From 0-1, r is constant,
dr
— T 0
de
Hence, ce=l
From 1.2, r = at,
dr
i A
dr
Hence, ETFr = 0af
From 2-3, again r is constant,
d
LA
dr

Hence, e =0
Intensicy « (Number of photons)
+ (Mumber of photoelectrons)
Minimum wavelength,
s = gapeg ~ 0304
Hence a wavelength less than 0.30 A is noy
possible,

Given, [wy = vyl =lvy = vyl
u.f + i'::' + 2\'t \1'_|_-'-'L'f + l'v_‘f 2\"1 LE
o [wy + vt =lvy - vy
= (W =W ) vy = W) =lv = vg) (Vo v,)
v, v, =0
v, is perpendicular to v,
Polarised glass reduces the light intensity to
half
Population covered
= 2nhR « population density
100

=2ax 100% 6.4x 10° x ——
(1o
=4+ 10°
Figure 2, represents the short sightedness,

Intermediate image means the image formed
by objective, which is real, inverted and
magnified,

28,
29,

3o,

31.

32.

33.
34,

35!

36.

Carner + Signal — Modulation
In parallel combination, V| = V.

9
[ o
= 9 _&
4: €,

We put a unit positive charge at 0. Resultant
furve due 1o the charge placed at A and € i
zero and resultant force due to B and 17 s
towards D along the diagonal 8D

pv = h’ic.'i"
pb
== N =E'
) il,ﬁ-_‘i_-_lﬂ_"' x 1.01 = _lf_i"j «{1x10 "J
' 136+ 10« 200
6,02+ 10'°
Avcording o kinetic theory of gases, e

no attraction force berwesn the moleralie. i
gases,

So, potential energy = 0

Total energy of a gas is equal w kinete
ENErgY.

Only AC dynamo have shp rings,
Depletion layer consists of mainly sttionan
10ns,

Voltage gain, A, = _u_r_ andp =r, = x,

)+ =
i
= ;:-lﬁ-lDJ-3~l|'.|l =30
" 2
Ay =—E ="y <==.30=20
f 3 4
1+ -E
2r

In the deplenon layer of PN junction.
stationary positive ons exists i the Neside
and stationary negarive jons exists i the
Pside.

Barner potantial
diffarance

PN junction

CHHATRAPATI SHAHU JI
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87. According to Wein's law, 1" - constant

— f.m'j]::f-m?r:
Yo, i,/ 4 1
Now, Pyt
f;i"'&\‘z!ﬂﬁf.,%ﬁ
B \%) L T 81

48. For both the paths AU remains the same,

For pathaf, Al = AQ - AW
=50-20=301
For path fi, AU =-30J and AW =-13J
AQ=-30-(-13)=-43J

39, Rise m temperawure, At = S
Jsdie R
For water 5 = landd =1
Aga|d.]
Jhr R
2GM 5
40. e —— =R, mOp
VR Vg
If mean densiry is constant then v = R
v R 1
: vy By 2
i
= v, =-£
2
i
41. We have, acceleranon. a = 'd-:
; v
Given, T =hbr or dv = bt dt
ull
Integrating both sides
L. S il
2
Att =0 v =v and k =v,
V= ) ht=+ v,
2
de 1,2
or — == B * ¥y
de 2
Again integranng both siles
UL S i)

2 3
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AMr=0,x=0
; ks =10
L0, X = . bt? + vyt
6

42,

F

We have. W = —

€ have 2k

If both the springs are stretched by same
force, than W T

As k >k, therefore W) < W,
ie. more work is done in case of second
Spring.

43. Uf 2 motor of 12 HP works for 10 days at the

44,

45,

46.

rate of 8 h/day, then energy consumption
= power « me
=12= 746« B0 = BOx 60J
=25+ 107

Rate of energy - 50 paise/kWh

ie, 3.6 10" ) energy cost 0.5

S0, 25 « 10" Jenergy cust

2.5x1

BETERT

tritial momenrum of the system

Yy 05,

2354

=m -mv={
As  hody sncks
momenium = 2my
(where v is the velocity of compound body)
By conservation of momentum

wogether, so the final

= Final momentumn = Inital imemenrmam
2my =0
Vo= ]

=
L]
wrwlu
s, the bodv gets angular acceleravon.
i
Flad * R
]

and T, — - 5
{thickness of filament!

P « (thickness of filament)”

S0, Fged
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f B i |
47. Radius of cireular path, r - =
ﬂq 1'4 R

2:10°
- Ha h_l- - -lﬂ 10
=010m
48. Pole strength = m
length = 24
—U— = [ -— el

Magnetic moment M = 2 mil

When magnetic needle s broken into twe
pieces at the middle, then

Pole strength « oy

49.

50,

CHHATRAPATI SHAHU JI
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lengihy = L
M

Mugnetic momenr M- il = =

The reduction facor, & 4R8,,
e

(R =radiug, N = number of turns)

when number of rarns and mdins of the ool
are doubled. the redvcuon factor k& will be
TEMmain same.

According 1o Ber's second postulate
Angular momentum i< quantized,

e, L =mwv.r,
h i
dx

Chemistry

L o 8 mol Oatoms are contamed by 1 omle

Mg, (PO, Y,
0.25 mole of Q-awine are presenl in
Mg, (PO, ). = é = .25 mol

=3125* 10 " mnl
2. de-Broglie wavelengrh,

i
i
my
I
Y &
oL

KE = ' my (14!
2

Now, put the value of v in Eqg. (i)
hov

Kk = 1 m
ML 2,

Hence, KE = 2 (11 o e same)
m
and the arder of KF is as
E,>E, -k,

3.

4.

3.

CriZ = 24): 147, 24° 2p", 3¢°, 3p*, 43!, 3d'
For 19th eleciran I_—‘J

H4g°

megl=Ometlsa

The atom whach has Inwer value of packing
fracaon s sable. Hence glom B o more
stnble than atwom A

_Hu }.;.l- o 5 i

peUH == o X —* ga!
Number of protuns = §2

Number of neutrens = 206 52 - 124

124 62
filp rane in the product nuelei = -~ = N
K

Bond  length decregses. a5 bond  order

Incieases,

Band order of 0, = 2

Bond order of O, = 2.5

Bond order of O, = 1.5

Henes, the order of band length b
0.0, +0;
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7. The structure of HO is angular or V-shape as
it 1s sp*-hybridised with bord angle 105° Its
dipole moment is positive of mare than zeru.

But in BeF, structure is linear due to
sp-hybridisation  (u = 0).  Hence. due 10

w 0, H,0 is dpolar and dug tou =0, Bek, 15
non-polar,

" L BL
/éj)\ F—-—i;&?i— ~F
1045 -
i) H J

8. In ICL,. | 1s sp d-hybridised. The structure of
ICl; is distorted rrigonal bipyramidal due 1o
the presence of lone pair of electrons

9. 0% (number of elections -18) does nat
contain unpaired electrons.

0? :ols’. o 15, a2t o %, a2ps, w2pg

H

< n2p?, 22p = x2pt
10. InSOY; x-1-2=31=-2
x=+bh=-2=-+4
InS 04 2x+(=2x4)=-2
2vy=r8-22+D

X=+3

lnS-‘.Eli: 2x+(-2=B)=-2
2x=~12-2=<10

k=<5
Hence, increasing order of oxidation state of
5is )
5,05 <SO7 =508

11. A atoms are at eight comners of the cube,
Therefore, the number of A atoms in 4 unit

cell =§ =]
8

B atoms are at the face centre of six faces

Hence, its share in the unit cell = S =3

Therefore, the formula of the compound is
AB-.

12. Moles of sucrose (n) = g‘:—_i = 0292 mal

Maoles of water (V) = JJTEH =535 mol

Vapour pressure of pure wite
(pil= 23.8 mm Hg
Acearding oo Raoult's law

Ap_n
p' n=-N
Ap __ 0292
238 0.292 « 555
238- 0292 .0
* 56792 0,125 mm Hg

. o a

13. Boyle's lemperaiure. e Rb

= BaCl.lag )

A = =200k U

BaCl, 2H,00s) - uy —» BaCl.lag):

AH =+ BBE]

Eqg, (1) can be split in rwo Steps as

BaCl (4]~ ZH ) — BaCl, 2HO(s5):

14. Bal'lyls) - ug

i

AH = Al
BaCl, 2HJOCs1 » ay » BaCl Lag)
AM = AH,
AM, + AH, = - 216
AH, - 88=-2006
AH, = -294 k)
15. +ve AH and -ve AS both oppose the
rEaCticn.
16, 2NH, ) = Nilg) 3H,lg}
K, = ’l’.‘.-'lt_pil".'. : 1"“'“1: (2t )
! (= TH {atm)

17, AIC), gives Al ions which combine witk
OH  ions given by HO so that dissuciatior
equilibrium of H.O shifts  in  forwan
direction te, ionisation of water increascs.

18. When half of NH,OH is neurralised,

[NH,OH] = [NH (]
pOH [salt]

Ki ¢ log —
P & | szl
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19.

20,

21,

22.

24,

pOH = pK, =475
pH + pOH = 14
pH = 14 - pOH

=14 . 475« 925
For second order reaction,

? =k{cone )

e
k' one. __l_
i Emnc »
=cone. U.IIII:
=Lmol s

Hydrazoic acid (NH) is o weak acid. Dis
weakly acidic character is due to the reason
that azide ton (N} ) formed alter the loss of a
proton is mone stabilised by resonance as
compared to hydrazaic acd nsell

#| N-—N=N|

Mixture of Al powder and Al{NO, ), known
as “ammonal”, is used in bombs,

Inert pair effect s more pronounced in
heavier members like Ph Hence, Pho(1V)
compounds act as strong oxidising agents
and are redeced o more stable Pb{I
compaoumds.

Eromine water is an oxidising agent. |t
oxidises 50, to 50, and itsell s reduced to
colourless HBr

(NN — N | «

Br, +HO » ZHEBr +[0]
arange red earloput limin
§0; +[0] —+ 50,
H:D T 5’01 - ¥ H-_-EL'I.‘

H 5 is also oxidised by bromine wirer but n
this case decolourisation i also accompanied
by the formarion of sulphur
H.A + (0] r HLO +5

Decreasing order of dehydration of aleohols
fs 3¢ = 27 = 1 hecause 3" carbocation is more
stable than 2 carbocation which in twrn s
more stable than 1" carbocurion

25,

6.

27.

29,

30,

oo

OCH,

O =020

=t horyhromns
beseeme

OCH t

ity
aniline

Fyridinium chloro chromare (POC) prevent,

further oxidation of aldehvdes o carboxvie
acid.

RUHOH — 95« RCHU + H.D

LH {.I.». sylvent

Arross the lanthamde senes, due o innrhamde
contraction size ol cations decreases, whinh
results ininerease n conmlent character sl
decrrase m lome character. So, the basteny ol
hydrmsades decrenses

Structural isomers of C H, Br. are

BrCH CHCH B . BroHACHBrOH

iy (171}
ReCHCH,CH, . CH, —ChredZH
(1l T
Out al  these  fow sirbctural  fsomers

iwomier (i) has a chiral corhon atom  and
henee shows enanbiomarphiam e opticil
ST T LS

Carbacation: (1) i» most stable due o
eSO,
F e
CH;—CH—0—{H, +—n
e
CH,— CH =0 H

Due o electron withdrawing effecr o the
odjueent carbony] group, carboeation (11 =
leasi stable. Carbocaon (10 is Jess stable
than carbocarion (11} because 1 5 only
stabitized by the + 1 effect of the wo CH
groups. Hence, the order of swability s
HENESIIH

Electromeric effect implies complete transier
of zelectrons In the presence of o fagem
Siee, simple ethers do not contmin any
muluple bond. hence, they Jdo nat show
electromenc eltect

CHHATRAPATI SHAHU JI
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31

33,

3s5.

36.

37.

39,

40,

lodine value 15 the number of giam of iodine
required 1o satusate 100 g oil or far. lu other
words, the desrer of unsawration of an ol
or fat is expivsied in terms of lodine number
Allosteric site is a control site in addirion to
the active site in enzymes.
Cervlrimethylammonium  chionde 5 a
cationic detergent and s used as germicude,
Sawrated =olution of KNO, is used 1o make
salt bridge because velocity of hoth K* and
NO, are nearly same.

Culs)+ 2Ag lag) — Cu* lag) - 2Ag0s)

Ef=046V m 208 K
_ 0,059

E 2— lug K
(46 = ﬂ.%ﬁ 3 T A
log K - 0.46 = 15.59
0,0295

K, =392« 10"
Cow milk is o natural emulsion stubilised by
cusein, milk protein.

Auto  reduction  process 15 wsed in the
exrraction of Co and Hg

20us5 + 30, —— 2Cudl + 250,
2000+ Co S —s by ~ 50
2HES + 30, —— 2HgD + 380,

2HgO ' 2ZHg + 0.

*a

L2

>
Semspuie (3. 4] octane

Kjeldahl's method cannot be used for the
estimarion of npitregen in nitre and  aen
compounds  and compounds  containing
nitrogen i the ring (like pyridine because
these compounds are not  completely
converted inta (NH, 1,50, during digestiom.
2K+ CuS0, — Cul, + K80,

ursrable

CHHATRAPATI SHAHU JI
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2Cul. wCugl, =+ L.
Hence,  solution  contains Cu,l,, [, and
K50,
41. @ *Eli;=Cl1i!tl;C]Miﬁ
/.-l_.l'!'_;\'
(:;TJ ‘.:H {11 BH, THF
el T R
Al t'|12 Dk 10 G, O
CH;, .
! \ .
@ CHy i [
CH.ON X
i i

42, The compound dissolvies m NaOH and gives
chanacteristic colour wich Fedl w hence tis a
phenol On rearment with bromine {tgives o
rribromoderivative, hence two octho and one
para position wort OM group must he free

OoH CH
Hr ! Br
,ﬁ"\, Bt Ha G
g : Y CHy
mecrasul 2]
IME o CaH OB

43. When acetamide s heated with 110, methyl

cyarmde Is formed

CH L™

inethy] el

CH CONH., "-';’.';. S U0

[ e
44, CH, MgBi =
(Y 1

-+ CH _lf_"l.'“ 3]
I A0 icebic achd

CHEON = 210 25, cHe00H + NH,

soeiominile

45. 2-methyl propanal conming one u-H atwom
hence it undergoes aldoel condensation.
Surprisingly, 1 alse undergoes Cannizaro
regcion,

Nut - . i
ILCH 1 Jgr.-l I'EH(‘J '—'1#3 B" L H_,H- rl J,fJ{[.UUT‘M

+ (CH L LCHEHLOH
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(10 | T ul

46, CHNO, l;:quﬁi CH NO, .
_E (M E.
T, SOH i

47,

5.

. Myoorrieea

5 - I"‘u-ﬂ.l 8,
f-ll_/ \t:n._.mmm2 o

Cartbowax ©s 4 polynwer of ashybone ol
whereas camuaba way il hevawax i
osters of hugher Gare actde with b
aleuhols while paraflin wos i oa miguee of
hydrocarbans  eonpnnine 20 o
C-aroms,

nuile

Bolany

the  svinlyane
between fungus and oot o lugher plants
The myenrrhizal ronts are astmly covyred
with  fungal  wooly  wagrowth Fangoe
growth does not cause aiy laem fe e
plani. Along with wirte phasphorms
mitpngen are also oharbed

Dupng  seed  germinarion espeeslly o
veieals,  gibberelling  stmtifuie
production  of lydiolvuc  eozvmes nke
amylases, proveases  and  lipases.  Those
enzymes solibilize the resere gl 1 sod

WNETRMT IO

LB

In Cycas. tie Teelled fomspeores s <aed i
the  air ey e deltbwaivr ot
sporan@um  They are c ooy
and are "l.'ilﬂll‘d Vo anip St eI LAt UEt

B3
kv s winspha

The loss of warer fmome 1le
aetiel parts of plans nothe e oy
vapeur 16 Called (ranspisption. Wie 1han
Fo of toral loss ol waties wibes e
through stomnta. Openmy amd claar
stomyta oy due 10
guard well,

The amount by whinch ditfusian pregsige ol »
solution 15 lower tham fha of s puge solven
w known a Diffusion Pressure Deficit
When woter enterk e vhe oot TP e s
turgidioy inerenses and ool wall ovelops
Et]I.IH] iy GPPrsite W i et Al by
state of equlibrm LT wali Se oo dem

fos oy Tl

cwphlad®

coenn Chamge i

« b

44,

mi

o,

7

114

whah are
and 17y ©1

whdd 1

s lavey duwikplvs B
stirned by omidation of B

Wil

-

Fadun as radacive wly o pesod of
38 duys and is used far the reamen of
caner,

The elonment witly ahomse mwnber 80 e, Ve
g dequied o oon teporanae doe o nigh
(TR LAV AT ] amd vk macenliic
fiay N LRI 'l'ﬂp"'l'"l'
prossuie al jooin e,

ey

Poraling,  bertaie

weedid  Hhepy
sope s bron sarepunded by thalamur g
i Teid

i % T W T

ik, panas T e Fruii
Acruldieg dy b o Ptsaty il Ly
apeaw o3 stonabe s dus tnllng of

bootiitee thee mletal e by The sodatee G B oy

ave ooaphy subesdinry geil apdeemnl el
The susmmare? agdsetne I8 ronsitored o be
ol bt by axcrenon of Ko oamd C

prossit the ginersd cells o epudiermng nasue

Pogrdmeninan a0 v i

by

Fovrilbasivian, tis ;N.Ii. foeetl dimcha g =

aifilue LELER T ELE B

pib b G T T Phasiiig

plateppts gl b Dl arehiuigipal

clmnbwst - The cilin and mwmiiane o sperm
g ot and cywplasm snd nagdeus fuses
awikhh T g v o 0y T G

g dewse wl polluen s metne GUey 18

bt rong of e facis cetheabiag TF5, 0

Led S gl phaey, Al e Tore o srpopi
i» Mty Imidaes
I Sbaffa amma Ldrechiertd, relds al

wenerally st

Hamgiin, 'ﬁﬁl':'fﬁﬁ;i!:\'- i sundew of Degenz
wirer coming in coantmer with an imacs @
thigmaonastic, hopranastic o
wovemem ~ snenton, Opants and clisag
of Mowaer ga resgmemse oo bghe od darkness o

TrEmnTiae

nblest phstonasey. g Cedondrita
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12,

13.

14,

16.

17

I8,

1%

The foud materal synthesizes in leaves of
grecn  plants amed from sepd during
germination s translocered 1o growing
regiots and slurage organs of plant.

The inorgenic essential elements which are
obtamed  from  wail are  called  mineral
elements. Planrs absorb the miperals in form
af s, The movement of ions is called fux

The svnthesis af ATP from ADP s called

phosphorylation Sulwstpare lewel
phosphorylanion  is  directly  linked 0

liberanon of envegy i chemical renction of
respiration, eg. formanon of GTP 0 kel
atle

. Useally with increase in lighy mtensiny. thie

rate of photosvnthest eressed Av very
high light inwensity,  the  cells  exhiba
photooxidation by the  process ol
solarization and if conunues for lew howrs,
the phorosyinthetic apparius is destoved

Hexokinase causes phosphorvianor of
Ahucose wlucose & phosphate 11 both
glvenlyss and pentase phosphate parieay,
Bath  glveolwvas  and  pentost phosphate
pathway ocan o ovtoplasm

L

B aerahon piiios

Glurive = AP —- v Dlucose

fephosphate +ALG

The *erm miche’ wae weed i evologs by
Grinnul (or the rale of speciesd population
plave in fe yrosyEem Ecolagenl  mche
masans (he wotal teraction of 0 spestes with
pIWITHNITENL,

i nterctiong

w WIS, orEnens ol ditferent

Proto couperation
e T
apeates. 0wl bouh muiially
Ienenited mu they gan hve withiou each

ot Iy

iy

e Heieny of sine catse ;s lea! mallurmativn:
Wam Heele latf ierveinal
ciibimnsts, Khalra Grsease of e and severnl
LATH S aof V) dhistnetions

lg! TR IEY
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Deficiency of molvbdenum causes whiptat!
disease, loosening of inflareseence 10 cau
Powver

DL’{:UI“PD‘EF& e HIpremopii
microorganisms which feed on dead bodies
of organisms and organic wastes of living
organisms. These are most diverse srganisms
of an ecosysiem

Photosynthedis & manofacuire ol orgamc
compaunds inside the chloroplvll centainig
cells from 0O, and water with the help of
sunlight, Photosynthene wmts necor jn the
form of two disumet groups called plgment
systems, The first reacnion i photosynthess
is eacitation of chivrophyll molecale

Egu eell 15 haploid. whereas endodperm
triploid as s formed by fusaon of ane e
gamete with two palar nucle, Therefore, the
number of chromoxames e endosperm will
b 80 1o 24

Water holding capacity b the extent (o which
g sofl can hold eapillary waler agamst
aravire, 1t s defiped g the amount of walet
retiined by unit weight of drv soll, whien
immersed in water under standardized
condition, Sandy sofl L poorest waled
il capacity

Maiure with any
irregulanin and pnevenness ino Qe sghpos
contour & cafled rmtnaie endosperme 0 s
known to occur in oabout 32 famitles of
angiosperms. In  familv-Anponaceae,  the

rurrinate endosper = found,

epidivameim digres o

Sevoodary wrowth | the growth gt o

aepe and fonts . Anamiilags o dbmiaemal
secniidary growtn s [ound in sifme (oo
sterns suehous Vieod, Dracacna, Mo, Agave
it

Brgitering = Codtiinm

Flisis — Hypanthodivm

Dorstenig — Locnanthiini
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27.

28.

29,

30,

al.

32,

33.

34,

as.

Linnaeus produced sexual system of
classification based upon the numencal
relations of the foral pars. He grouped all
the genera into 24 elasses based on number
and morphological arrangement of their
STHITENS,

Reot is thar part of plant body which grow
down inio earth. The primary roots develop
from radicle and gives secondary and tertiary
roots, Lateral roots develop endogencously,
ie, from pericycle,

Prokaryotic cell is found in bacteria. These
cells lack nucleus and membrane bound cell
arganelles which are present in plant celis
[eukaryotic typel.

RH Whittaker (196%) classified living
organins inte five kingdoms based on cell
structure, body organization, nutrition and
lifee siyle. The five kKingdoms are Moners,
Prousta, Fungi, Flantae and Animalia.

Gametophytic and sporophyvtic phases are
present (n fite evcle of bryophytes and both
phases are morphologically distincr. The
gametophytic phase is more conspicuous
independent  and  donunant,  while
sporoplvie depends on gametophyte,
Pyrenolds are proveinaceous bodies present
in chromatophores. These arganelles are
constdersd 1o be associated with synthesis
and strorage of starch. In moembers of
Chlorophyeeae,  pyrenoids  are  having
proteinaceous centre surrounded by starch
Mares

In plant cells, cvtokinesis occurs by the cell
plate formarion, A number of elemenrs
called pliragmoplasts are derived from ER
and Golgi body. These elements line up at
equater during anaphase and later Fuse 1o
form cell plae.

Gymnosperms are characrerized by présence
of naked ovules. which develop inte secds.
The ovular integumen form the seed coat

Vegersrve reproduction in Funarg takes

place by frogmenmation  of  primary

36.

37.

a9,

41.

42.

protenema, secondary protunema, gemmag,
bulbils and apospory.

sporophyte 1 a diplod generation while
gametophywe is haploid. Meiosis cause the
reduction of chromnsome number to half, ie,
from diplowd o haploid.

Middle lamella is a thin binding layer
berween the cell wall of adjacent plant cells.
It is chemically formed of pectares of calcium
and magnesium, It (s present towards
outside of primary cell wall.

Dendrochronology is the determination of
age of tree by counting annual nings (these
rings are formed by activity of cambium in
dicot root and stems).

The first step in dark reacton of C, plants 1s
carboxvlation of ribulose 1-5 biphasphare by
atmospheric €O, w presence of enzyme
Hubisco o form  PGA.  Ribulose 15
bisphosphate + CO,, + H0 —» JPGA

Endoplasmic reticulum is a nerwork of
interconnected  cisternae.  tubules  and
vesicles present in cywoplasi, Depending on
presence or absence of ribosomes, It is of two
Lypes
“i) Rough ER It has ribosomes attached to
s surface by nbophorin
iit) Smooth ER It does not have nbosomes.
Teichoic acid 1s present in cell wall of Gram.-
posinve bacreria It s aculic  polymer
consisting of carbohydrate, phosphate and
an alcohol. It inds metals, acting as receptor
sites for some viruses and maintaining cells
at low pH to prevent J-gradation of cell
walls by self produced emeymes,
Dryopterts has circinate vernation of leaves
hut is homospornus
Circmnate vernation and heterospory is found
in Cycas
Copper i5 ctompunent or  acrivaror  of
plastoeyanin, cytachrome  ovidase, RuBP
varboxylase and many other engymes. It has
major role in vlectron transter, maintenance
i carbohydrate mirrogen  hulance  and
chiorophyll svnthes:
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47,

Pyramid of energy represcints amsunt of
energy trapped per unit ared and ume in
different wopic levels of a tood o, It
always upright,

When  primary  air pollutams  (gases
particwlates! rake part o owide pings of
phothemical  eeagtions. (PRIt
secondary pollurants, Imporant aeeondan
pollutants are SO, HS0, . PAN, stg

Beadle and Torum proposed ane gune e
cnzyme hypothesis and also biochemcal
mutation  in o experiments  on Negrogpora
crosad,

Test cross is the cross of T, with iFs recesyny
parent. It is used to observed tha the T s
hamuzygous or heteroeygou= fo gives 101
ratio in monolwbod and 11 0 1 rand m
dihybrid cross,

they

UP CPMT (Medical) - Solved 1Faper 20

48,

CHHATRAPATI SHAHU JI
MAHARAJ UNIVERSITY

zY

Byruvie acd symthesized n glycolysis st
enter  inside  the mitochondona,  whees
oxtdarive decarboxylannm oot mprese e

of NAU . pyruvie okl debvdrogenose
complex and coenzyvimi-A
Pvruvic acid =+ NAID + Co A — Aceov] Co-A

GO+ NADLE .
Coenzyme I8 non  profeinaeeuus  argant
mialecule required. bound e the enayme for
functioning. Aponzyme th:
proteitEcenues part ol onzsme. Licneyme +
Apoenzyme = Holoenzyvime
Ochoa and Kornbery owarded Nobel pooee
of Physiology or Medwine G o
syathesis ol cibopuetbeotide

W

Vil

Zoology

Medulla oblongarn is the postetionmost put
of bran and s Jecaied  bheneath the
cerebellum. It 15 originated tron ectoderm.

. Medulla oblongata contmls  mvelunan

Tunceions of body through o number or
centres  [ike  cardiac  cenre,  pespiraton
centre, vasomoter cenfres (contraction of
blood vesselst, saliviwy centres, e
Regenerition 1s detined as teplacement,
repair or restoration of the nst or damaged
sTuctiines of reconsutution of the whole
body from a small fragment of it duning post
embryonie e of an oigamsin. Braan cells
have lowest power of regenerstion due to
highly epecific differentannn

: .o 2033
Dental formulia of rabbir 1« =
1023

famnes are absemt in rabivt,

Modern theory of arigin of lite was propused
by Al Oparin and JBS Haldane. As per thos
theory, origin of life is the (esult of long
seies of physico-chemienl changes whch
brouglt wbout st by cheaniad evolution
and thim by bialogical evalurion

L 0

28

6,

Hypothesis « a selatively new meatieent |y
rested generalization A peneralizabon thu
has heen rested repeated!voand Tl 1o by
copsistant with all tacrual obeereariom and
have higher degree of confidence
valdity s called theory

L5

It s suggested that the large organi
molecules formed abiotically i the primine
earth eame together spomaneabsiy and due
o intermolecular attracnon formed  large
colloidal aggregates calted concopvares. An
envelnp of warer formed sroumd eael sh
aggregare due 1o hvdrophibe nomee of o
ol these compounds

Viuaming are  necossan el
funcrioning, These can be grouped i warer
soluble. (vitamin-Bcamplex and ©f and fr
sofuble (vitamin A, B F abld K)

fest nesenld

Pineal ];Ia.m:l seUTePES e fatoin Blrmyone
The concentration of tus hormene 6 bloud
appears  flow 3 durnal Gdavuglng ovele
ds it arises i the evening okt thiough the
night It teguliotes warking of gonads (Hestes
anid ovariesd
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10,

1.

12.

13

14.

15.

16.

17.

13-

kxpiratory Reserve Volume i the exira
amount of air that can be expinad forcibly
afier a normal expiration. It s abour
10001500 ml.

Inspirarory Heserve Volume = 2000 mL
Vital capacity = 4000 mL
Total lung capacity = 5000 ml.

Multiple fission or spurulatien in Amoeha
tikes place during unfavourable condition
after encystment, There are thiee layers of
cysl.

Species  of  Lactobacillus,  Streprocoects,
Microceocus and Proteus are responsible for
spoilage of milk products The exatoxine
produced by these bacteria cause food
PHECRING.

Farthwarm (Pherenma postituma ) belongs 1o
class-Oligochaera of phylum-Annehida

The genes which individually have & small
eitect but collectively praduce significant
phenotypic expression are called polygenes.
The inheritance of these genes is called
polygenic Inheritance, g, skin colour In
lman,

Cri-duchar  svndrome i caused by @
conspicusus deletion in the shor amm of 5th
chromasome. These individuals are severely
impaired and their plaintive cai-like crving
aive the syndrome its oane.

Rh factor was fitst veported by Landsteiner
and Wiener in rhesus monkey When B

man marry with R wuman, the foetus will

be Rh'. This cause the condinon called
haemalytic dlsease tervihrablastosis
foetalis].

Flightless irds  show  discontinuous

distribution. They hove well developed
poweriul legs, small head, rudimenrary eves
and wings, ¢g, ostrich, emu, Kiwl, cassowary
ete.

Haversian canals are found in long bone of
mammals. These canals are interconnected
by transverse canals called Volkmann's
canals.

19,

20,

21.

v o

231,

25,

20

Paver s the lardes exoctine gland Each liver
lebw  is  formed of  hexagonsl  lobules
surrounded I-'l:l" @ coninestive tissye sheath
called Glisson's capsule. Kupffer's cells ol
liver act as phagucvies

Ichihyalogy — Stutly 0f fisines
Mammology Stedy of mainals
Herpetology Stldy of tephiles
and amplilmans
Ornithology — Stuily o) bigds

Murphu“a:ib Irperilves dhe peconstruction of
whole body Drom o small frogmem by
reorgonizing  the  esisting  eells,  ep
regencration of Hvidra from s peees,

In sodium. potassaum oxchanee pump. Wk
move agamnst concentralion gradient. When
sarcolemmn s posmvely chargud inside wirh
respect o omside . Hes change s called
action potential and thi sacolemmn v sl
to be depolarized, Dite 1o depolagization
muscle fibre contracts,

The ares ol ovum which exirudes the polar
bodies and receives sperm i wrmed Ay
animal pole. The sperm fuses with gvum (o
torm the diploid zygeie The pole of ovom
apposite (o ammal pole 15 calied vegeral
pule.

The newrosecrctory cells of hypothalamus
seerete hormones called wleaning  (aetors
These are Adrenocorneotropiie Reléasing
Hormaone, THH, SHH, GAH. URH. vt
Gastrulation i the fsimation of gastiuin
from blastula i thar phase of cmbryonic
development during  which the eelly of
blastula move m small mass o0 anain the
Final lovation. Such movement of cells is
called morphogenetic movement.

Epithelial cells of parathyroid gland secrete
parathormene.  This  hormone  helps o
regulate the metabollsin of enleim  and
phosphate. Parathormone s under  the
feedback comrol of blood caleinm level
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35.

Cartilage 5 a =olid bui seninigd and Hexibbe
connective Ussue while bone s salid, tiynd
and sirong connective dssue. Haversian
canals are round in bone of munminils onl;

Urea cyele mkes place in hver colls, Witk the
hvdralvie cnzyme, arginase, argimine splits
wne weeg and arnichine with the climmnanon
of & warer molecule

Whea a  stionilus s opplicd  codium
POl PUMP stop upuraling. Sodium 1ons
rush inside and potassibin ons rush outside,
This  results in depulorzation  (action
potential), Alter o pened of action potential,
sodium-potassium pump operate (effluy of
Na  and mflux of K 0 oamd axen will ge
resting porential by repoloreatton

Nerve vpiilse o a wave ot dopodaieation of
the membrane of nene ool Fhe penve
impulse travel along o netiae o acioss a
sytiapse, In the axon of momr neeve fibre,
the nerve impulse tavils sway from the cell
by

Bile salts of the nle Bregkdown t droplets
into many small ones by eduoing she surfaee
tenston of far deoplets. This process i« called
emulsification.

Vitamun-B, (tdarmine ) wecuis in oter coat of
seeds of many phames including cer=al grains
Unpolished voe gnd faod made of whaole
whear are good suurce ur Ui vibnmin, L
alse aymihesized by Bavterin m cofog
The cphderms of  Asans 8
(Coenocytie)  with  scatined
withou septin

Locomotary  structure a Pobwehaeta are
parapodia with svise, All segmenis excep
the firsi, last and <hitellar segmoent cangain
sgtae, There are 8U-120 aethe pel segment

syncytial

mecler and

Sponges are characerized by tagellaed
choanocyvies, numersus mouthlers (ostal
and one exit weseulum). Sponges have a
canal svsterm amd they nead a continuous
current of warer (lowne through  their
bodies for respiranon, excretion. nuirinon,
und reproduction,
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Ellias established the amimal noture af

sponges, They are charscterized by hologuie
nutrition, absence of cellilose and presence

of ciliated larva.
Silver fish {Lepisrna)  — Insecia
Prawn, Lobsters — Grusces

37.

38,

Mouth parts of housclly ate spunging pe

Mandibles are absent m mouth parts of
housefly  Labium 15 the muest developed
component of mouth pans forming the

proboscs.
19,

ammals  persisi 1o soMe exient

Primary body eavity or blastocoel in many
eithey

enclosed within aaeow blood vessel: 45 1
anpelids or apen ax blood contmmng space
called o haemovoel, I oecurs in Mollssea

and Arthiropoda.

Contractile vacuole i found 0 free living

protozeans, and absent i paristit, 1S mam

tunction 15 osmoregulation
4q1.

Biradial symmetry i a vitiant lom o

pachial syminetry in which only twa plones
passing through the longitudinal axis will

produce  mirmored  halves,
{ phylum-Crenophora),
{phylum: Anthozow),

R,
B

walputs
AMCIOnes

Lamarchian theory o also Enown as twory of

inheritance of poguired chatneters or theory
of ust and disuse of organs. This theory can
not explain the reason of weak muoscles i

the son af o wrestler.
41,

Huge de Vries moneered the theory of

mutation- 0 explain the mechamsm  of
evolution. According o him, evelution is
discontinuous and jerky process Fréquency
of a mutated gene an o population i
expecred 10 increase i that gene s selected

by fature

o Australoamithectis — B0 RO0 o

Java apr man — GO0
Peking man — JO75
Muodemn man — 13060 ¢



32 UP CPMT (Medical) - Solved Paper 2011

45.

47.

Mesozoic era — Age of repriles
Coenosoic erd — Age of mammals
Palaeozne era — Age of fishes

Balenopleasus —  Connecting link between
Chordura and
Mon-chordata

Peripatus — Connecting link between
Annelida and Arthropoda,
Trvpsin and chymotrypsin ave proteolyiic
endopeptidases. ‘They secreted i ngetive
forms trvpanogen and chymotrypsinogen,
The enterokinase secreted by intestine
eonvelted inactive rvpsinogen (o rypsin,

48.

49,

50.
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Cellulose is digested by bacteria  and
protozoans in large intesting of herbwvorous
mameals, In rabbit and s, fermentation
and absorption of cellulose is not complete
in a single passage. So, these animals eal
their faeces (coprophagy).

Bidder's canal lies inside the kidney of male
frog. Sperms from restes are carried into the
Bidder's canal.

Spinal nerves come out from spinal cord
{gray matter). These are 37 pairs of spinal
nerves in rabbit.

31 pairs of spinal nerves are found in man



